Substitution - Including Use of Brackets as Grouping
Symbols

BODMAS / PEMDAS Working Out .
Algebra Integers Substitution

BODMAS and PEMDAS
There is a set order we must do Math Ops in: Multiplying Integers Rules Piore i e gtk review of
“ | == Positive X Positive = Positive Answer the Integers Operations
— Rules that are needed for
Brackets ( } Parenthesis Negative X Negative = Positive Answer positive and negative
. numbers.

Gther Thlngs 'r X 2 Exponents Positive X Negative = Negative Answer
DiViSiOﬂ f QF + MUItIleCatIOn Negative X Positive = Negative Answer Dividi Int Rul

¥ W W ividing Integers nules
Multiplication X or . Division Al
Addltlon & Addltlon Positive + Positive = Positive Answer
Subtraction - Subtraction Negative + Negative = Positive Answer

Positive + Negative = Negative Answer

The working out of answers after substituting in number values
needs to follow BODMAS / PEMDAS order of operations. Negative + Posilive = Negative Answer




